Fractions of a set of objects (1) e

To find a half I need
to divide by 2

©®

Do you agree with Dexter? Yeb

0 Here are some counters.
Talk about it with a partner.

l Fraction Division Example Drawing
a) Circle % of the counters.
one half divide by 2 %of 6=3 ggg
b) How many counters did you circle? 3
i 1 2
©) What is - of 127 2
R 1 of O)OIC)I O
1 ‘N —of8=2 Q. 0.
one quarter dw‘dp*btj 7 OEC)" 0'0
e Draw counters in the bar models to help you complete each a/],
number sentence. The first one has been done for you.
1
1 of8= : '
0)20 4 OOOO OOOO one Ywrd d\#\/\"do_‘ods ‘SOL\S=S
1 @)
1
) rof8=|2 O 0|00 OO [0 O
One  fLpbn dk'vidabj S Ls of 1S =3
dlof16=|4| |0 %] %% % 0D

e Complete the table.
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e Huan uses a bar model and base 10 to find % of 36 e Complete the number sentences.

C@

a)%of 60 | =30 ) %of 250 | =50
b) % of | 80 |=20
O O O ? 2 ?
(m D D @) A b) A
30 30 20| 20 | 20|20 0|0 | 0\ So\S‘o
Use H ' thod t lete th lculati ° Rosie, Amir and Alex each find a fraction of 24 using counters. O
se Huan's method to complete the calculations. o/
1 = 1 = I have 1 of 24
1 A 3

I have 6 counters.
& S
:

° Nijah uses a bar model and place value counters to find 1 of36
a) Order the children from least counters to most counters.

3

Rose Atex A rwr

Use Nijah’s method to complete the calculations. ( least counters ) ( most counters )

1 _ 1 _
a) 3 of 96 =39 <) 4 of 52=113 b) What fraction of the counters does Alex have? -:%_‘ = ‘lq

¢) Rosie and Amir put their counters together.
b) 1 of 60=| |2 ) Rosi " put thelr cot g
Write their total number of counters as a fraction of 24
L+g =12
o Which amount is greater? Tick your answer. ﬁ',
1 1 %OQ E3S = £2S
3 of £7;/ or T of £75 12
v zof E3S=E1S o

Show your workings.
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